PFM Tutorial 7 19/9 – Social Security

13.3 What issues would a 64-year-old man need to take into account before he decided to register for the pension bonus scheme?

· How long after reaching age 65 does he expect to work?

· Does the expected work pattern meet the eligibility tests?

· Is he healthy enough to keep working?

· Has he gifted any assets in the last five years?

· Does he want to keep working?

13.5 What factors need to be taken into account when considering the choice between a lifetime annuity and a life expectancy annuity?

· A lifetime annuity pays for the whole of remaining life. Thus, the provider bears the risk of extended life.

· A life expectancy annuity pays only for the remainder of life according to the life expectancy tables. The purchaser bears the risk of a longer life.

· The provider will reduce the interest rate inherent in the earnings of the annuity to compensate for the additional risk with a lifetime annuity.

· When making the decision, people must judge their probable life expectancy, given their family history and own health, against the reduced return.

PAE

13.1 Letty Johns is single, aged 61. She receives a Newstart allowance. She is successful in obtaining part-time employment and earns $200 per fortnight. Explain how her Newstart allowance will be affected by her employment.

Letty may be eligible for the higher rate of Newstart: $399 per fortnight. Her income of $200 per fortnight will reduce the maximum allowance by:

= 0.5 x (142 – 62) + 0.7 x (200 – 142)

= 40 + 40.6

=80.60

$399 - $80.60 

=$318.40

Her new allowance will be $318.40

13.2 Land finishes work and is paid $4000 for 8 weeks leave. She makes an application for Newstart allowance. Calculate the effect of such a payment on Lan’s application.

The LAWP cuts in for single people at $2500. Lan has $4000 (disregarding any other cash holdings) so at one week for each $500 she will have to wait three weeks (($4000 – 2500) \ 500) before receiving any Newstart allowance.

13.3 Tina has a $12 500 term deposit at a bank. If she applies for a social security benefit, what impact would her term deposit have on her application?

The return on the term deposit will be deemed at 2.5% if that’s all the financial assets she has; or at 4% if the term deposit is part of her financial assets greater than $34 400.

13.4 Neil a 70-year-old age pensioner with a life expectancy of 12.80 years. He is considering purchasing a term annuity buy wants to make sure it is an assets-test-exempt annuity. He is consdering:

(a) a 12-year annuity with a nil residual capital value

(b) a 13-year annuity with a nil residual capital value

(c) a 15-year annuity with a 20% residual capital value

Which one should he purchase?

The 13-year annuity has maturity greater than his life expectancy and no residual value, so it will be assets-test exempt.

13.5 Ruth is aged 63 and has an expectation of a long life. However, she does not want to commit her savings to a lifetime annuity at her stage of life and would prefer to invest $80 000 in a 25-year annuity and $120 000 in an allocated pension fund. Explain how each investment is treated under the assets test.

Both these products will be assets-tested as long-term income streams. The amount taken into account each year will be the balances in the accounts.

13.6 Luigi and Theresa are age pensioners and have assets of $200 000. They wish to give their son, Roberto, the sum of $40 000 to help him acquire a new home. How should they do this without affecting their age pension to any great extent?

Assuming they are home-owners, their $200 000 puts them under the current $206 500 threshold for the maximum pension. They can thus give Roberto the $40 000 with no consequences on their pension. If they thought they might receive other funds and go over the threshold, they should give Roberto no more than $10 000 p.a. for three years in any five years, as this is the limit for gifting without incurring consequences for their pension.

13.7 Vince and Ida are age pensioners and have the following assets:

Home


$280 000

Bank deposits

$38 000

Insurance deposits
$150 000

Calculate their entitlements for age pension.
As home-owners, the threshold for maximum pension is $206 500. Their assets are less than this, so they will receive the maximum pension on the assets test.

The first $57400 is assessed at the lower rate of 2.5% for a couple.

Total Assets 
= $38 000 + $150 000



= $188 000

Income 
= $57 400 x 0.025 + ($188 000 - $57 400) x 0.04



= $6659 p.a

$6659 per annum = $256.10 per fortnight

Allow $204 per fornight

$52.10 x 0.20 = $10.41 reduction

13.8 Mrs Luu is a 62-year-old widow. She owns her home and has no dependants. Her home is valued at $180 000 and she has the following assets:

Bank Account


4.5% p.a.


7 000

Balanced investment trust

5.5% p.a.


30 000

Equity trust



3.5% p.a.


20 000

Shares, actual dividends

$5000



80 000

Insurance bonds


no income return

25 000

Total








$162 000

Calculate Mrs Luu’s actual and deemed income including any age pension. Suggest ways she might be able to improve her income.

Actual income: $315 + 1650 + 700 + 5000 = 7665

Deemed income: $860(34400x0.025) + 5104(127600x0.04) = $5964 or $229.38 per fortnight

The assets test will reduce her total pension: $162 000 – 145 000 = $17 000. Reduction amount: $17000 / 1000 * 3 = $51 per fortnight.

Reduction under income test ($229.38 – 116) * 0.4 = $45.35

Thus, her age pension will be $429.40 – 51 = $378.40

Mrs Luu could improve her income by investing some of her funds in an assets-test-exempt income stream, transferring the equity trust funds to a higher yield trust, or cashing out the insurance bond and investing the funds in a high-yield investment.

13.9 Peter is an aged pensioner whose only non-pension income comes from renting a commercial shed worth about $50 000. The net rent is $2860 p.a. Is the income from this asset deemed for income-test purposes? How much is used as his income in the income test?

The income is not deemed for income-test purposes, but is taken to be the actual net income of $2860.

